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wl o {d,

(1) 30.94 = 0.7 (2) 3.25 + 0.5
(3) 378 + 14 4) 36 + 0.2
(5) 7 + 3.5 (6) 0.80 + 5




qiQl 9 BGuaRLcHs stuil aldq

| 8 | | A - Adls |

® 2wl WA Avud nqudlsrl Guulal sA A @3uul A Yoo avll adlst Kl
81 =3 x3x3x3 =3

Sl 3 A UEIR 2 4 A Eldls sSd .

3% 4 81 o adisle a3u 58 ©.
ald 2a3ual Yaualdd duusiz 9.
3% A el AR wd AN a9,
— 125 =5x5x5
= 5% i R 5 A uldis 3 .

il dad Al Aqvaizia eldis a3U d@vil.

— 243 =3 x3x3x3x3=23% w"iwwr  ads 6.
— B4 =
— 625 =
— 1000 =
° (ufactosy 2aud uidla dld 93u) 72 =2x2x2x3x3
= 2% x 32
L dad Al Advaizia eld QA3uUHL @vil.
(1) 432 =
(2) 16000 =
(3) 648 =
(4) 405 =
(5) 540 =
(6) 36000 =

56



YN

° [(ZHad 2i4l.

Gelsral: 22 = 2 x 2 X 2 (-3 = (-3) x (-3)
=8 =9

(M =@ 9 =___ (7)) x'=

2 8¢ =___ ) (My=___ (8 20=___

@ 4 =___ 6 3 =____ 9 »W=____  yz0
® g 3u Ml

(1) 2x102 = (4) (3) x4 =

(2) 5 x22 = (5) (-2)* x 3=

(3) 0x (6 = 6) (3) x (2=

° aldis-it [Rusl
(1) A3 2L BldHL ALRUSIR
a’ x a = am"
Gelerwl 2° x 27 = 257
— 212
- {l2AAL geust 24l
1) & X d =g
(2) 3 x 3 = 3
3) x7 x x* = xH
(2) A3l 2R Bldel HRLLSIR
a” + a" = a™"
(wai m 24 7 yals d@val & du m>n )
GeleRWl : 2" + 24
— 27-4
= 23




o QA st suul.
1) a®+a =a
(2) 108 = 10* = 10°

3 x¥ +x =

@ &+8=__
(3)  audril wd
(@ = a™
BelsreL: (43)2 = 43¢
= 46

[ QA gust 2l
(1) (&)} = 3%

= 36
2) (79°0=7> =7
@) (@F=a* =a
(4) (6%° =6 =6
(5) (P =bs> =b

(4) e wdis

a”x b™ = (ab)”

GelseL: 3 x 4°
= (3 x 4)°
= (12
®  {lA-l ueid wd Q3U Quil.
(1) x*x )y =
2) 4*x a* =
@ (6yxm'=__
4 (2 x (:3y =




(4)  Ael Awdisaoll Al @RusIR

an+ pm o= 9 = (ﬂj (b=£0)

" b
3° 3)
ol 5 = A5 = - = |=
BelelsL: 3 4 e ( 4j
®  {lA-l ueid md Q3U Quil.
(1) x+p = [;] (y0)
(2) 44 =<5 =
(3) (3 + 4° =
4) x»=+=y =__  (y#0
®  auldisit [Rudi-l Guula 53 Ag3u 2l
(1) 6 + 23 2) (52 x 5% + 5°
(3) [(@?? x a%)] + a" (4) 2% x a® x 5a*




2x3'x2’
0 x 42

(5) wayals wdis

a-m -

GelseL: (1) 27
(2) 22

(3) 2%

1
= %=

N =

1 —
7 =

oo Ao

geBldisl ddiM [RaMl %9 aldis M2 Y8l @) ud €9,

-

EXTREEN IR

(1) (4P x (4"
2) & x a’

3) 75+ 74

@) 5 x @)

;




¢ A3 2l

(1) (25 + 2% x 2° (4) KEHZH

(2) (-9)* x (gjs (9) (ab)SX(§j2+(%js
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[@oll, sl - [Buue (A9 auol sue gd 28

LET’S JOIN ... BUT, ... AND

)
)

L al$s dulorsld yrriadq s3g.

Adlors ved lal 206e ¥ 6L Asel - ALAYSL 5 ALl Adle s1M 52

bl - 8 Yl 2uusl Sedis Adlorsi-l Gualal allvll o oruL el

1)

2)

3)

4)

5)

And - ‘2=’ - w3 (And) A ‘v,
UL AL A3 VLS oleld - AL ol olotdHl GHRA 53 ASA.
el.d.,

1)  Virang is a student. Parag is a student

Virag and Parag are students.

[Az1oL 2t vl [Qenelizil ©. (sal>il i)
it) I have a pen. I have a pencil.

I have a pen and a pencil.

W WA U 27 ARG B, (e s Asl)
Or - ‘vl - Or 22d ‘Mal’ d [Aseu-dl el yad .
el.d., I will drink tea. I will drink coffee.

I will drink tea or coffee.

§ 28l madl sisl dlal.
But - 612 - Y8l | Yrg, : 6 [ARMIAIRAL 22l YAl AEL sloidln A3 ©.
el.d., I ran fast. I missed the bus.

I ran fast but I missed the bus.

¢ »uell el ureg § ol sl Ll
Because - ‘ollsloy - s1281 & ulReum Al s8I 1Al M1 Because AdL%S dils 3.
Gel. I was absent. 1 was sick.

I was absent because I was sick.
So / Therefore - ‘Al [ 8817 - a2l [ d e
el.d. I was sick. I was absent.

I was sick therefore I was absent.
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[Riats adi-l uRRAM yorot [Alan eeidl gl gel-2el Adlesi-l Geleell Aldd unydl 2A1usl.

Join ‘A’ with ‘B’ meaningfully.

N\ Y
.
.

‘A’ ‘B L cusuiAiA A4YRl cust o d Lld oAl

A B

1) Pooja worked hard - so he left it
2)  Shlok and Alok are - but she want to participate
3) It is raining heavily - therefore we will go out tomorrow
4) 1Ila can’t walk properly - doing their exercise
5)  Sunil is tired of job as salesman - or she will prepare for exam
6) Hemali will attend birthday party - and achieved destination
Fill in the blanks from bracket :
sladdl Hegd)l vudl ooul yai :
[ or, and, but, so ]

Generally, the king sits on his special place —______ today he is out
people will not be able tomeet _ talk to him. If they want to meet him, they have
to come + the next day —_______ stay there for a night.

Functional Approach :
Complete the Paragraph by making it meaningful

[ Clues : - did, crop, a, and, he, so, much |

Once there lived —_______ man in a village. He was a farmer. He went to his farm
and ploughed the land. _ waited for rain to grownew . He waited
but the rain _________ not come —___ he was discouraged

felt sad.
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Conjunctions- and/or/but/because - Chapter-5
Translate in Gujarati

Conjunctions are words which help to connect two or more words, sentences and ideas.
Eg. I have a brother. I have a sister.

I have a brother and sister.

Eg. I like to watch TV. My friend likes to play.
I like to watch TV but my friend likes to play.

Let us learn to use some of them

and but or because

Worksheet
1)  Circle all the conjunctions in the given passage.

I stay in village Adalaj. I live with my father, mother and my brother. I love the place
but my brother does not like it. My mother and father both like it. My brother wants to go
to a big city or a big home because he can then make a library inside. He likes books a
lot. I like books but I like playing more.

i1) Join the given sentences using the words given in the bracket.

A) Trupti likes reading. Trupti likes writing (and)

B) I do not sing. I do not dance. (or)

C) I am happy. It is raining, (because)

D) My friend Ankur ran. He missed his bus. (but)

C. Tick the correct option to complete the sentence :

a) Most people like tea _______ coffee. (and/because/or)
b) Wearerunning ________ we are late. (and/because/but)
c) Heisshort ________ he plays very good football (but/because/or/and)
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Fill in the blanks to complete the paragraph using conjuctions :

We are in a fair. There are many men, women —_______ children. I want to take rides
my sister wants to eat Pani puri. My father said that we cannot eat Pani Puri
the water of Pani Puri is not good. [amcrying — my father is saying

no. Now [ am happy — my father is buying balloons.
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6 WHAT ..., WHEN ..., WHERE

<

@ 1l 2UA 525U Wh - UsiRl Ul 58 uRRAMRH]D aud d saidd € d-l 2eu1d $3U e

(=
Who s, o, yu, 2, Ajay gy
When AHY oldladl, Tomorrow, at 2:30
Where U, at the park, at home (8R)
What L55U drg, What is that ? (3uL salqal
Why 5129 oldladl, AH%dl, because
How 5l da ealaar, wgla
® Choose the correct answer :
What ? When Who ? Where Why How
1) s your birthday ? on Ist June.
2) _—_ are the children ? at playground
3) — is he doing ? He is writing
4) ________ are you late today ? because of trapping
5 —— do you go to school ? by bicycle
6) _——___ is your best friend ? Hiral

®  Select the correct ‘wh’ questions :

1) _—_ is your favourite actress ?

(A) What (B) Why (C) When (D) Who
2) __—___ are you from?

(A) Where (B) When (C) Who (D) What
3) ——_____ are you going to America ?

(A) Who (B) What (C) When (D) Which
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4y ____ did you go to Gandhinagar ?
(A) What (B) Who (C) Whose (D) Why
5 —is your hobby ?
(A) What (B) When (C) Why (D) How
6) ——_ do you sing so well ?
(A) What (B) Which (C) Why (D) How

Read the short passage and answer the questions :

He loves Football.

Aryan plays football. He loves football. He can run fast and throw far. He will ask kena
to play with him.

1)  What does Aryan play ?

O  Games O  football O  Kho-Kho
2)  Who play football ?

O Kena O  Aryan O Nil
3) How can he run ?

O  Plays O Far O  Fast
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See the example and frame questions with :

(€2l Guuio 53U :

Example : T went to Bombay

Q)

Where did 1 go ?

Mittal likes stories.

Virat plays very well.

The banks open at 10:00 am

We go to gym everyday.

I go to school by bus.

1 am late because of traffic ?
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